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HEEIHI(23]) 4,092
—HHEZ 21| 7,483
HF2+4(23]) 866
- 24| 140,000& «12& 1,680
- AZEX| 145,000& «12& 1,740
eSEsEx| 50,0003 *12& 600
FEFOHI 1,298, 1423 23| 2,597
—IIa3=Z 22|k el24d|
74,0003 157 11,618
—II3=ZXSA Q12|
80,000 x 1552 12,400
—=4, s7 AE&A 1Ay 19,227
- STEXNER D123
2,200,000&*5H 11,000
HAHZAH(=sT) 96,0003 122 1,152
- JUZAHN(SY) 140,000& 12 1,680
S ESEXH|(2Y) 50,0003 *12& 600
- ARERIA (=) 395, 00021 14! 3%
=E-ESIT] 1,100,002 422 23] 4,400
—E|=3(401) 850, 0002+ 122 10,200
—4UEE = 183,000 x6F 122 13,176
—2s23 74 375,000& *23] 750
—HIZsH, AIREE S
100,000& «12& 1,200
— Xt |XY| 933
—2t2| ] 312,000& =123 3,744
—3323 S 187,000& * 12& 2,244
—=E| XA MU S HEE
2,500,000 13| 2,500
—=&0Hl 1,700,000& * 14! 1,700
04 CIZHHALAIRIE & 6,000 6,000 0
OddlZz33AEZ=2g Us XA 6,000
— M43 GollnSSAE=2 Y& I3
=2OIg 3,000
—H23 Sl SSALZ2YHIE =7
Chal 3,000
SEEYNAEL=ZHIRAAH (XL AZUSIIZ) 890,000 5,732,000 A4,842,000




SN SSHHSD
M MsdE
Hel: S8AE=E2E 2 (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
[Ea 50,000
CH 840,000
401 Al HIZL 01| 890,000 5,710,000 /4,820,000
s 50,000
CH 840,000
01 Al&H| 890,000 5,710,000 /4,820,000
OBSHENALZSYSIRSAA (NS A
Z2USI12) 840,000
CH 840,000
OYHAEZ=ZYSIRAAY (R +=SH HSF
£ E) LE2U3) 50,000
2Eddd AXXZEH 2 A& 450,000 450,000
307 @120l & 450,000 450,000
02 QB HANEER 185,280 185,280
O=EsddgiAaz==g Halait X 185,280
—=d 2 Uizl ol 185,280
=8| 50,0003 1544 662 49,500
Sl 8,000 1202 +902 92,880
=&l 100,000& * 1292 12,900
03 M EE2SHIEx 294,720 0 294,720
OESdEdAEI=2g 29 294,720
— X E=XH(4el) eI H]
2,200,000 ~4H* 122 105,600
—XIERH(2el) el At
2,000,000 «2H 122 48,000
—AUHEE MAXRES 15,120
X XH(421) 209,000& x4H 12 10,032
XIS XH22!) 212,000 2H* 123 5,088
—=AUHE 1,666,660 «3 A+ 122 60,000
—l= & =34l 440,000& x150H 66,000
Y 2IIHI(2H=FD) 65,500 76,620 A11,120
=3l 65,500 76,620 A11,120
Jl2ZH(M=23E) 31,500 35,820 4,320
201 er2 3| 16,000 16,000 0
01 AtR2telHl 16,000 16,000 0
OZNEg det=SH|
1,000,000« 128 12,000
OZA2g Sl 8,000 +x20& »254 4,000
202 04| 9,680 14,000 A4,320
01 2LHoIH 9,680 14,000 N4,320
OZA2g ol 20,0003 x21H*4 1,680
O=LH04HI 20,0002 x4 *100 8,000
203 HR=4AY] 5,820 5,820 0




FA: 2eMS
M HYRAZH(2SHSL)
s Jl=2ghl EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
M EA2ER=AH 5,820 5,820 0
ORNEgE =AY 485,000« 123 5,820
Jl2dtl(2atol=g) 12,000 14,400 22,400
202 0o4dl 12,000 14,400 2,400
01 =LHNHI 12,000 14,400 A2,400
O=U048I 20,0002 x62 =100 12,000
2323t E) 8,000 9,600 1,600
202 04| 8,000 9,600 21,600
01 =LHOLI 8,000 9,600 21,600
O22 Mg =L
20,0003 *4EH 100! 8,000
Jl2ZUI(MSAIZE) 6,000 7,200 21,200
202 04l 6,000 7,200 1,200
01 =LHAHI 6,000 7,200 1,200
OMSAIZE U0l
20,0002 *32*100 6,000
JI2ZH(AZ=0HEE) 8,000 9,600 1,600
202 04| 8,000 9,600 1,600
01 2LHA b 8,000 9,600 21,600
O=U08I 20,0002 x4 =100 8,000




